
Unable To Access NTP Server

Problem Summary UCCX installation fails saying it is not able to access NTP server on node 2
Error Message Unable to Sync to NTP server on node 1.

Possible Cause User might have given a wrong NTP server while setting on node 1. ( Note , starting
NTP service on a windows box and designating it as NTP server might not work ).

Recommended
Action

User should set correct NTP server on node 1 by logging into CLI and restart node 2
installation.

Release UCCX 8.0(1)
Associated CDETS
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